Unique Auctions Catalogue 20 May 2015

1271	A quantity of tools £10.00 - £20.00	1309	A Hotpoint washing machine £10.00 - £20.00
1272	A large quantity of toys £10.00 - £20.00	1310	A LEC fridge £10.00 - £20.00
1273	A set of weightlifting equipment £10.00 - £20.00	1311	A chest of drawers full of tools £10.00 - £20.00
1274 1275	A 4 wheel cart and contents £10.00 - £20.00 A pine box contining handbags and suitcases	1312	A 2 drawer chest of drawers and three lamps £10.00 - £20.00
1275	£10.00 - £20.00	1313	A sewing machine in cabinet £10.00 - £20.00
1276	An old aluminium dust bin £10.00 - £20.00	1314	A letter box £10.00 - £20.00
1277	A beige two seater seat £10.00 - £20.00	1315	A Zanussi washing machine £10.00 - £20.00
1278	A pine box contining handbags and suitcases	1316	A cabinet and sundries £10.00 - £20.00
	£10.00 - £20.00	1317	Two aluminium step ladders £10.00 - £20.00
1279	A green leather two seater chesterfield style	1318	A leaf blower £10.00 - £20.00
1200	settee £10.00 - £20.00	1319	A Matsui freezer £10.00 - £20.00
1280 1281	A quantity of pictures and mirrors £10.00 - £20.00 Two large mirrors £10.00 - £20.00	1320	A quantity of tools £10.00 - £20.00
1282	o	1321	A chop saw £10.00 - £20.00
1202	A quantity of adjustable and other lights £10.00 - £20.00	1322	A 4 drawer teak side cabinet £10.00 - £20.00
1283	A chandelier £10.00 - £20.00	1323	A quantity of china and sundries £10.00 - £20.00
1284	A quantity of woddworking clamps etc £10.00 -	1324	A box of sundries and china £10.00 - £20.00
	£20.00	1325	A Sealy 5 ft divan bed and headboard £10.00 -
1285	Three trays of screws etc £10.00 - £20.00		£20.00
1286	A quantity of brassware, cameras etc £10.00 -	1326	A three piece suite £10.00 - £20.00
4007	£20.00	1327	A quantity of tables £10.00 - £20.00
1287	A quantity of tools etc £10.00 - £20.00	1328	A table lamp etc £10.00 - £20.00
1288	A SANYO Microwave £10.00 - £20.00	1329	A 5ft bed and headboard £10.00 - £20.00
1289 1290	A large fan £10.00 - £20.00 A corner desk £10.00 - £20.00	1330	Three old black leather chairs £10.00 - £20.00
1290	Two vacuum cleaners £10.00 - £20.00	1331	A quantity of garden tools £10.00 - £20.00
1291	A brass companion set £10.00 - £20.00	1332 1333	An Electrolux vacuum cleaner £10.00 - £20.00 A flymo in box £10.00 - £20.00
1292	A large quantity of bed linen, duvets etc £10.00 -	1334	A quantity of towel rails, airers etc £10.00 - £20.00
1293	£20.00	1335	A Cobra lawnmower £10.00 - £20.00
1294	Two boxes of tools etc £10.00 - £20.00	1336	A pressure washer £10.00 - £20.00
1295	A large tin £10.00 - £20.00	1337	An industrial vacuum cleaner £10.00 - £20.00
1296	A New World gas cooker £10.00 - £20.00	1338	A chest inc tools £10.00 - £20.00
1297	A quantity of blinds, ironing board etc £10.00 -	1339	Two lamps £10.00 - £20.00
	£20.00	1340	A quantity of tools etc £10.00 - £20.00
1298	A Zanussi spin dryer £10.00 - £20.00	1341	A Hotpoint freezer £10.00 - £20.00
1299	A White Knight dryer £10.00 - £20.00	1342	A sprayer £10.00 - £20.00
1300	A bathroom cabinet £10.00 - £20.00	1343	An all purpose steam cleaner £10.00 - £20.00
1301	A Hotppoint washing machine £10.00 - £20.00	1344	A pine chest £10.00 - £20.00
1302	A quantity of headboards £10.00 - £20.00	1345	A quantity of tools £10.00 - £20.00
1303	A Russell Hobbs microwave £10.00 - £20.00	1346	A battery charger £10.00 - £20.00
1304	A Fridge Master fridge/freezer £10.00 - £20.00	1347	A box of crockery £10.00 - £20.00
1305	An easel £10.00 - £20.00	1348	Three lorry jacks £10.00 - £20.00
1306	A Beko fridge £10.00 - £20.00	1349	2 stepladders £10.00 - £20.00
1307	A bird cage on stand £10.00 - £20.00	1350	A tape deck, equalizer & DVD player £10.00 -
1308	An interesting collection of old tools £10.00 - £20.00	. 550	£20.00

1

1351 1352	A quantity of tools etc. £10.00 - £20.00 A gas fire £10.00 - £20.00	1387	2 brass coal scuttles and a brass ewer £10.00 - £20.00
1353	A fold up chair & stool £10.00 - £20.00	1388	2 large metal watering cans, solar lights and other garden items £10.00 - £20.00
1354	A wooden step ladder & a wooden ironing board £10.00 - £20.00	1389	A seletion of glass lampshades £10.00 - £20.00
1355	A table saw £10.00 - £20.00	1390	A large selection of glassware £10.00 - £20.00
1356	A petrol strimmer £10.00 - £20.00	1391	A selection of silverplate items and Oriental food bowls £10.00 - £20.00
1357	A carpet £10.00 - £20.00	1392	A Smiths Bluecol oil can and old tools etc £10.00 -
1358	A copper planter etc. £10.00 - £20.00	1002	£20.00
1359	A box of LP's £10.00 - £20.00	1393	A selection of silverplate items £10.00 - £20.00
1360	A massage chair £10.00 - £20.00	1394	A part set of fruit patterned plates and cups
1361	A vice £10.00 - £20.00		£10.00 - £20.00
1362	An invalid walker £10.00 - £20.00	1395	A quantity of 78 rpm records £10.00 - £20.00
1363	2 tailboard lights £10.00 - £20.00	1396	A quantity of glass posy vases £10.00 - £20.00
1364	A quantity of electrical wire, extention lead & hosepipe £10.00 - £20.00	1397	A selection of white crockery with gold coloured detail £10.00 - £20.00
1365	A Turbo power 3 hoover £10.00 - £20.00	1398	A large quantity of brass and metal items £10.00 -
1366	A quantity of tools £10.00 - £20.00		£20.00
1367	An electric hedge trimmer £10.00 - £20.00	1399	A holdall full of ladies scarves £10.00 - £20.00
1368	A metal garden table £10.00 - £20.00	1400	A quantity of bulbs, plugs and other electical items £10.00 - £20.00
1369	A tin trunk £10.00 - £20.00	1401	3 framed tapestry pictures £10.00 - £20.00
1370	A 2 person saw £10.00 - £20.00	1402	A collection of Harry Turtledove hard back books
1371	A quantity of coloured glassware including vases, trays etc. £10.00 - £20.00		including 1st edition £10.00 - £20.00
1372	A quantity of miscellaneous items including 2 blow	1403	A vintage Hi-Lyte projector in case £10.00 - £20.00
	torches, radio, clock etc £10.00 - £20.00	1404	A quantity of pottery and china etc £10.00 - £20.00
1373	A large quantity of glassware includin bowls, jugs, vases, trays, trinket boxes etc £10.00 - £20.00	1405	A quantity of LP records and cassette tapes £10.00 - £20.00
1374	A large quantity of screws & fittings etc £10.00 - £20.00	1406	A Greek style 2 handle vase Lamp, an Indian elephant figurine and large vase £10.00 - £20.00
1375	A quantity of miscellaneous items including scales, metalware, fittings etc £10.00 - £20.00	1407	A large quantity of silver plate and other items including cutlery, tea set, tray etc £10.00 - £20.00
1376	A quantity of pottery and glass including 2 hen	1408	A quantity of pottery, glass etc £10.00 - £20.00
	egg bowls £10.00 - £20.00	1409	A quantity of 78 rpm records £10.00 - £20.00
1377	2 boxes of handbags, linen etc £10.00 - £20.00	1410	A collection of figurines and ornaments including
1378	A selection of handbags, umbrellas, shoes etc £10.00 - £20.00	1411	cats £10.00 - £20.00 A quantity of miscellaneous items inc large deer
1379	A collection of interesting wooden items and 2 pottery shirehorses £10.00 - £20.00	1412	figurine etc £10.00 - £20.00 A quantity of candlesticks etc £10.00 - £20.00
1380	A selection of glassware £10.00 - £20.00	1413	A selection of fishing rods and fishing equipment
1381	A large collection of collectors plates	1415	£10.00 - £20.00
1000	(approximately 40) £10.00 - £20.00	1414	A collection of crystal and glass in bottle filled with marbles £10.00 - £20.00
1382	10 good pairs of ladies shoes £10.00 - £20.00	1415	A small foot stool £10.00 - £20.00
1383	2 table lamps with glass shades £10.00 - £20.00	1416	2 bird prints, 2 bird figurines and a bird clock
1384	A selection of pottery and china including teapots £10.00 - £20.00		£10.00 - £20.00
1385	A selection of kitchen items including pots, knives, saucepan rack etc £10.00 - £20.00	1417	A selection of larges plates and meat platters. £10.00 - £20.00
1386	A large collection of paperback books £10.00 - £20.00	1418	A collection of ladies handbags in a case £10.00 - £20.00

2

1419	A very large collection of Christmas decorations	1450	3 walking aids £10.00 - £20.00
	including tree £10.00 - £20.00	1451	A generator £10.00 - £20.00
1420	A selection of kitchen items including storage racks £10.00 - £20.00	1452	A picture of a cat in an ornate frame £10.00 - £20.00
1421	A shelf of miscellaneous items including an electronic Sony picture frame £10.00 - £20.00	1453	An oil on canvas of a sailing ship signed H Siger ? £10.00 - £20.00
1422	A large quantity of ladies shoes in a case £10.00 - £20.00	1454	A quantity of LP's (approximately 40) £10.00 - £20.00
1423	A large pottery centre piece and 3 lustre leaping salmon (1 /af) etc £10.00 - £20.00	1455	A large oil on board of a courtyard garden in green wooden frame £10.00 - £20.00
1424	A mixed lot of glassware including wine bowls, coloured etc £10.00 - £20.00	1456	A pair of tapestry pictures in frames £10.00 - £20.00
1425	A large collection of dolls and baby dolls £10.00 - £20.00	1457	A hunting print in frame £10.00 - £20.00
1426	A Victorian S F & Co Jug and Basin set etc	1458	A glazed music cabinet £10.00 - £20.00
	£10.00 - £20.00	1459	A good green rug £10.00 - £20.00
1427	A selection of wooden items including fruit bowl £10.00 - £20.00	1460	Two backgammon sets and a chess set £10.00 - £20.00
1428	2 x 6 piece tea sets with floral design (36 pieces)	1461	A 2 drawer cupboard £10.00 - £20.00
1429	£10.00 - £20.00 A good selection of mainly hardback books related	1462	A large brass picture of owls inscribed Colin Raynor 1988 £10.00 - £20.00
	to gardening (approximately 27) £10.00 - £20.00	1463	A 6 drawer chest of drawers £10.00 - £20.00
1430	A scooter and a scateboard £10.00 - £20.00	1464	2 green glass oil lamps £10.00 - £20.00
1431	A set of EKS bathroom scales £10.00 - £20.00	1465	A vintage green suitcase £10.00 - £20.00
1432	A DeLonghi Dragon portable radiator £10.00 -	1466	An old metal trunk £10.00 - £20.00
1433	£20.00 A Wickes portable radiator £10.00 - £20.00	1467	A selection of artists materials and books £10.00 - £20.00
1434	A two tier white metal glass table £10.00 - £20.00	1468	A good collection of collectors plates including
1435	A DeLonghi Dragon portable radiator £10.00 - £20.00		Wedgwood and Norman Rockwell £10.00 - £20.00
1436	A kitchen chair £10.00 - £20.00	1469	A box of miscellaneous items including boxes, Phillips radio, pottery & glass etc £10.00 - £20.00
1437	A quantity of pictures and prints £10.00 - £20.00	1470	3 large lamp bases £10.00 - £20.00
1438	A small round occasional tablen with marble effct	1471	A pair of vintage ice skates £10.00 - £20.00
	top £10.00 - £20.00	1472	A pair of metal candelabras £10.00 - £20.00
1439	A green graden bench with 4 edged chairs £10.00 £20.00	-1473	A quantity of glassware including soda syphon, cocktail mixer, decanters etc £10.00 - £20.00
1440	A large oval coffee table with claw feet £10.00 - £20.00	1474	A purple fused glass dressing table set £10.00 - £20.00
1441	A childs chair with wicker seat £10.00 - £20.00	1475	A collection of linen and material £10.00 - £20.00
1442	2 extendable mirrors £10.00 - £20.00	1476	A box of foreign and other dolls £10.00 - £20.00
1443	A blue metal coak hook and metal butterfly £10.00	1477	A boxed sewing machine £10.00 - £20.00
	- £20.00	1478	3 wooden stools £10.00 - £20.00
1444	A pair of stools £10.00 - £20.00	1479	A large stoneware lamp £10.00 - £20.00
1445	3 plastic bins £10.00 - £20.00	1480	A vintage red suitcase £10.00 - £20.00
1446	A quantity of cat collectors plates etc £10.00 - £20.00	1481	2 boxes of pots £10.00 - £20.00
1447	A quantity of china, plates, cups etc £10.00 - £20.00	1482	5 framed and glazed advertising and other prints £10.00 - £20.00
1448	A mixed lot of china and other items including tin	1483	A large collection of postcards £10.00 - £20.00
	box, figurines etc £10.00 - £20.00	1484	4 lamp bases, wooden items, a Homepride man etc £10.00 - £20.00
1449	A dartboard and wooden surround £10.00 - £20.00	1485	A collection of figurines etc £10.00 - £20.00

3

1486	A loom linen basket £10.00 - £20.00	1517	An extending table with 2 leaves £10.00 - £20.00
1487	A mahogany effect D-end table £10.00 - £20.00	1518	A Joys sewing machine £10.00 - £20.00
1488	A loom style chair £10.00 - £20.00	1519	An early reel to reel tape deck £10.00 - £20.00
1489	A chandelier top and crystals £10.00 - £20.00	1520	A box of books £10.00 - £20.00
1490	A glazed display cabinet £10.00 - £20.00	1521	A quanity of old newspapers including Daily Mirror
1491	6 mirrors of varying sizes, 3 unframed £10.00 - £20.00		relating to the death of King George VI £10.00 - £20.00
1492	4 table lamps £10.00 - £20.00	1522	A collection of books £10.00 - £20.00
1493	A chrome table lamp with a teardrop frame £10.00 £20.00	_1523	A box including radio, lamp shades etc £10.00 - £20.00
1494	A small rug £10.00 - £20.00	1524	4 new pairs of mens shoes and other shoes
1495	An old print entitled 'Getting Entangled' in old		£10.00 - £20.00
	frame £10.00 - £20.00	1525	A large tealight stand and a candle stand £10.00 - £20.00
1496	A box of pottery, china etc £10.00 - £20.00	1526	A jardinere on stand £10.00 - £20.00
1497	A selection of pictures and prints including Kennel Companions £10.00 - £20.00	1527	6 volumes of The Second World War by Winston Churchill £10.00 - £20.00
1498	A turntable, a Sansui integrated amplifier and	1528	A quantity of CDs £10.00 - £20.00
	Technics tuner £10.00 - £20.00	1529	A set of scales and weights £10.00 - £20.00
1499	A 4 piece botanic breakast set & a 4 piece red polka dot tea set etc £10.00 - £20.00	1530	2 boxes of pottery and glass £10.00 - £20.00
1500	·	1531	• • •
1500	2 Hush Puppies beanie and a Ty beanie etc. £10.00 - £20.00	1532	An oval rug £10.00 - £20.00
1501	A loom style chair and linen basket £10.00 -		2 rugs and a quilt £10.00 - £20.00
	£20.00	1533	2 small rugs £10.00 - £20.00
1502	An oval mirror, barometer and green metal table £10.00 - £20.00	1534	A bind as as 640.00 . 600.00
		1535	A bird cage £10.00 - £20.00
1503	A quantity of pictures and prints £10.00 - £20.00	1536	A selection of nice scatter cushions £10.00 - £20.00
1504	A large quantity of camping utensils £10.00 - £20.00	1537	A large quantity of records £10.00 - £20.00
1505	A large quantity of dried and ornamental flowers £10.00 - £20.00	1538	2 boxes of books including many on gardening £10.00 - £20.00
1506	3 matching bedroom chest of drawers, 2 two drawer and 1 three drawer £10.00 - £20.00	1539	A JVC stereo system, record player and speakers £10.00 - £20.00
1507	A retro Paris river scene picture on board £10.00 - £20.00	1540	A framed set of Wills Cigarette cards - Cricketers £10.00 - £20.00
1508	A picture on board of a coastal scene £10.00 -	1541	2 oval mirrors in gilded frames £10.00 - £20.00
	£20.00	1542	A quantity of pictures £10.00 - £20.00
1509	A metal bed headboard £10.00 - £20.00	1543	A selection of table lamps, shades and pink
1510	A box of games including Monopoly, Cluedo etc £10.00 - £20.00	1544	chandelier £10.00 - £20.00 A large quantity of books many on gardening
1511	A set of bike leathers and helmet etc £10.00 - £20.00	1515	£10.00 - £20.00
1512	A warming pan	1545	A quantity of bags, holdalls and contents including magazines and tapes £10.00 - £20.00
4540	£10.00 - £20.00	1546	A pair of framed and glazed prints 'The Opera House and Market Day' £10.00 - £20.00
1513	A large placed achieve 2 decrease \$40.00	1547	A wall clock with Stallion mount £80.00 - £120.00
1514	A large glazed cabinet over 3 drawers £10.00 - £20.00	1548	A framed picture 'Orchids' by Jill Walker £10.00 -
1515	A very large quantity of miscellaneous items	. 5 . 5	£20.00
.0.0	including pottery, glass, cushions etc £10.00 - £20.00	1549	An old white 4 drawer chest of drawers £10.00 - £20.00
1516	A quantity of books including Dickens, Country Days and Country Ways etc £10.00 - £20.00	1550	An oil on canvas river scene in gilt frame £10.00 - £20.00

4

1551	3 small canvas prints including Sinatra, Chaplin &	1585	An inlaid bracket clock £10.00 - £20.00
1552	Ali £10.00 - £20.00 2 water colours signed Susan Storm? £10.00 -	1586 1587	A jardiniere on stand £10.00 - £20.00 A mantle clock £10.00 - £20.00
	£20.00	1588	A Regency fine art Oriental group £10.00 - £20.00
1553	A large quantity of crystal & glassware £10.00 - £20.00	1589	2 turquoise glass vases £10.00 - £20.00
1554	A quantity of record collector magazines in folder £10.00 - £20.00	1590 1591	A decorative floral clock £10.00 - £20.00
1555	A small set of 9 drawers £10.00 - £20.00	1591	A pair of Oriental horn peacocks £10.00 - £20.00
1556	2 green glass hanging lamps £10.00 - £20.00	1592	A parquetry box £10.00 - £20.00 A Victorian mahogany mantle clock £10.00 -
1557	A quantity of pottery & figurines including	1595	£20.00
1001	Babycham deers £10.00 - £20.00	1594	An oak smokers cabinet £10.00 - £20.00
1558	A mixed lot of china including Minton, Royal	1595	A pair of Tiffany style lamps £10.00 - £20.00
	Worcester & Crown Devon etc. £10.00 - £20.00	1596	A pair of Tiffany style lamps £10.00 - £20.00
1559	A quantity of cat figurines & other cat related items £10.00 - £20.00	1597	An old suitcase £10.00 - £20.00
1560	A quantity of pottery & figurines including cherubs	1598	A deco oak mantle clock £10.00 - £20.00
	£10.00 - £20.00	1599	A Mexican mask plaque £10.00 - £20.00
1561	A quantity of pictures & prints in wicker basket	1600	A Victorian porcelain mantle clock £10.00 - £20.00
	£10.00 - £20.00	1601	An art glass bowl £10.00 - £20.00
1562	A quantity of Oriental plates £10.00 - £20.00	1602	A Nao figurine £10.00 - £20.00
1563	2 boxes of collectors dolls £10.00 - £20.00	1603	A bronze dolphin & 1 other £10.00 - £20.00
1564	A framed oil on board 'flowers in jug' £10.00 - £20.00	1604	A pair of miniature scent bottles, miniature pot & a Buddha £10.00 - £20.00
1565	A quantity of pictures & prints including 'Art Thou	1605	An oak inkstand £10.00 - £20.00
4500	Weary' £10.00 - £20.00	1606	A collection of compacts £10.00 - £20.00
1566	A glass table £10.00 - £20.00	1607	A Capo De Monte figure of a cobbler £10.00 -
1567	A pair of speakers £10.00 - £20.00		£20.00
1568	A set of pine shelves £10.00 - £20.00	1608	A set of weather gauges £10.00 - £20.00
1569	A quantity of linen etc. £10.00 - £20.00	1609	3 pieces of cranberry glass & a ruby glass dish £10.00 - £20.00
1570	A copper warming pan A/F £10.00 - £20.00	1610	A quantity of costume jewellery £10.00 - £20.00
1571	A bedroom chair £10.00 - £20.00	1611	An opal mounted in gold frame with chain £10.00 -
1572	A large wine rack £10.00 - £20.00	1011	£20.00
1573	A Colclough teaset & 1 other £10.00 - £20.00	1612	A large African spoon & Goebel monk £10.00 -
1574	A quantity of glass animals/birds etc £10.00 - £20.00	1613	£20.00 A watermark detector & blood pressure monitor
1575	A quantity of animals & birds including Wade £10.00 - £20.00		£10.00 - £20.00
1576	A Super Striker football game & Test Match cricket game £10.00 - £20.00	1614	A quantity of Corgi Diecast including Bedford AA van & police mini van etc. £10.00 - £20.00
1577	A large box of Corgi Diecast icluding Chipperfield	1615	A claret jug £10.00 - £20.00
	Circus etc. £30.00 - £40.00	1616	A quantity of Dinky toys including Vega Major Luxury Coach £10.00 - £20.00
1578	A quantity of photo albums, pictures & postcards £10.00 - £20.00	1617	2 Poole jugs & 2 blue & white jugs £10.00 - £20.00
1579	A pair of double handled vases A/F £10.00 - £20.00	₀ 1618	A box of costume jewellery £10.00 - £20.00
1580	An Oriental pail vase £10.00 - £20.00	1619	A jardiniere on stand £10.00 - £20.00
1581	An Oriental vase £10.00 - £20.00	1620	A quantity of silver plate items £10.00 - £20.00
1582	A taxidermy butterflies in case £10.00 - £20.00	1621	A small old case & a quantity of cutlery £10.00 -
1583	A horses hoof inkwell £10.00 - £20.00	400-	£20.00
1584	A jardiniere on stand £10.00 - £20.00	1622	A quantity of Military ooks & reel to reel tapes £10.00 - £20.00

1623	A brass elephant & brass owl £10.00 - £20.00	1660	A box of books including Anne Rice and Agatha Christie £10.00 - £20.00
1624	A writing box £10.00 - £20.00	1661	A small drop leaf table £10.00 - £20.00
1625	A quantity of ephemera including menus etc. £10.00 - £20.00	1662	A small 2 over 2 pine chest of drawers £10.00 -
1626	2 stoneware jugs £10.00 - £20.00		£20.00
1627	An old Smiths clock £10.00 - £20.00	1663	A mirror with carved frame £10.00 - £20.00
1628	2 old boxes £10.00 - £20.00	1664	A piano stool £10.00 - £20.00
1629	A butterfly wings picture £10.00 - £20.00	1665	2 pairs of new Foot-Joy golf shoes £10.00 - £20.00
1630	An Angelica Kaufman style teaset £10.00 - £20.00	1666	A piano stool £10.00 - £20.00
1631	An inlaid table £10.00 - £20.00	1667	A nest of 2 tables £10.00 - £20.00
1632	An ols Selga transistor radio £10.00 - £20.00	1668	A small table with drawer and drop sides £10.00 - £20.00
1633	An ornate mirror £10.00 - £20.00	1669	2 antique picture frames £10.00 - £20.00
1634	4 flying ducks wall hangind 1 A/F £10.00 - £20.00	1670	·
1635	3 candle holders £10.00 - £20.00	1670	A wooden clock case and letter rack £10.00 - £20.00
1636	A jug & bowl set & Maling milk & sugar set £10.00 - £20.00	1671	A quantity of old tins £10.00 - £20.00
1637	A large heavy pestle £10.00 - £20.00	1672	A collection of Sylvac and Hornsea Pottery etc
1638	A quantity of artists materials £10.00 - £20.00	1670	£10.00 - £20.00
1639	A signed 'Edwardian' plate £10.00 - £20.00	1673	A cuckoo clock £10.00 - £20.00
1640	A set of 3 wall hanging swallows £10.00 - £20.00	1674	A box of pottery and china £10.00 - £20.00
1641	A small frosted glass jug & a small vase £10.00 -	1675	A globe wall light £10.00 - £20.00
	£20.00	1676	2 oils on opaque glass of children £10.00 - £20.00
1642	A pair of vintage electric copper kettles £10.00 -	1677	A pair of paintings on glass £10.00 - £20.00
	£20.00	1678	A meat platter £10.00 - £20.00
1643	An old wooden box £10.00 - £20.00	1679	4 crystal decanters £10.00 - £20.00
1644	5 ships in bottles £10.00 - £20.00	1680	3 recorders and penny whistle £10.00 - £20.00
1645	A Tiffany style table lamp £10.00 - £20.00	1681	A box of pottery and china £10.00 - £20.00
1646	2 sets of old dominoes, cards etc £10.00 - £20.00	1682	A box of miscellaneous items £10.00 - £20.00
1647	An old wooden cash register £10.00 - £20.00	1683	An oil on canvas still life £10.00 - £20.00
1648	A large Native American jug (slight a/f) £10.00 -	1684	A wooden airer £10.00 - £20.00
4040	£20.00	1685	A set of The Book of Knowledge £10.00 - £20.00
1649	A jade frog, other stone items and wooden items £10.00 - £20.00	1686	A school desk top £10.00 - £20.00
1650	A Tiny 4 band radio and a vintage Bush UHF TV	1687	A large quantity of Chinese china a/f £10.00 - £20.00
	Radio Timer Alarm £10.00 - £20.00	1688	A good box of cats and dogs figurines £10.00 -
1651	2 paintings of elephants on silk/cotton £10.00 - £20.00	1689	£20.00 A box of compacts and wallets £10.00 - £20.00
1652	A large wooden box, a smaller inlaid box and a set		A good 3 piece Parker suite and 2 foot stools
	of spoons £10.00 - £20.00	1000	£10.00 - £20.00
1653	A mixed lot of plates £10.00 - £20.00	1691	A reclining chair £10.00 - £20.00
1654	A swan on stand and 2 other fowl figures £10.00 - £20.00	1692	A 2 seater leather seat and a single seat £10.00 - £20.00
1655	A mixed lot of metalware items including cribbage board £10.00 - £20.00	1693	An oval mirror £10.00 - £20.00
1656	A magazine rack etc £10.00 - £20.00	1694	A pair or corner cupboards £10.00 - £20.00
1657	A brass box and brass magazine rack £10.00 -	1695	A glazed display cabinet £10.00 - £20.00
	£20.00	1696	2 jardinere stands £10.00 - £20.00
1658	A box of spectacles including retro £10.00 - £20.00		3 good pen and ink pictures £10.00 - £20.00
1659	An early unframed oil on canvas River Scene	1698	A print of an MGA £10.00 - £20.00
	£10.00 - £20.00	1699	An onyx standard lamp £10.00 - £20.00

1700	A chiffoniere £10.00 - £20.00	1742	A picture on board in gilded frame £10.00 - £20.00
1701	A Medieval plaque £10.00 - £20.00	1743	A large pine dresser top £10.00 - £20.00
1702	A mirrored shelf £10.00 - £20.00	1744	A bust of Beethoven £10.00 - £20.00
1703	A wicker chimney jar £10.00 - £20.00	1745	A dresser base £10.00 - £20.00
1704	A teaset & 1 other £10.00 - £20.00	1746	4 wooden items £10.00 - £20.00
1705	An Edwardian mahogany sideboard £10.00 -	1747	A nice picture of a Grand Ball £10.00 - £20.00
	£20.00	1748	A sewing table £10.00 - £20.00
1706	A stuffed fish £10.00 - £20.00	1749	A ladies writing table £10.00 - £20.00
1707	A large Victorian vase £10.00 - £20.00	1750	A large oak linen box a/f £10.00 - £20.00
1708	A stained glass window £10.00 - £20.00	1751	A vintage 2 drawer filing cabinet £10.00 - £20.00
1709	3 good old books £10.00 - £20.00	1752	A French ladies writing desk £10.00 - £20.00
1710	A barley twist gateleg table £10.00 - £20.00	1753	ADMTech TV £10.00 - £20.00
1711	A carved stool £10.00 - £20.00	1754	A mahogany bureau £10.00 - £20.00
1712	A leaded bookcase £10.00 - £20.00	1755	A display cabinet £10.00 - £20.00
1713	A picture of The Story of Elopement £10.00 -	1756	A set of 6 wheel backed chairs £10.00 - £20.00
	£20.00	1757	A mahogany chest of drawers £10.00 - £20.00
1714	A limited edition childhood memories picture £10.00 - £20.00	1758	A nice oak barrel £10.00 - £20.00
1715	A picture of a young lady £10.00 - £20.00	1759	A Victorian mahogany bedroom chair £10.00 -
1716	A picture of a young lady £10.00 - £20.00 A picture of a gentleman £10.00 - £20.00		£20.00
1717	A nice pair of engravings £10.00 - £20.00	1760	A hat, hat box, gloves, bag & scarf £10.00 - £20.00
1718	A framed & glazed picture entitled 'Good Bye'	1761	A vintage metal box £10.00 - £20.00
1710	£10.00 - £20.00	1762	A mahogany sewing table £10.00 - £20.00
1719	A dinner set £10.00 - £20.00	1763	A horse saddle £25.00 - £35.00
1720	A retro pyrex style tea set £10.00 - £20.00	1764	A large quantity of plant pots £10.00 - £20.00
1721	A cabinet £10.00 - £20.00	1765	A D end marble wash stand £10.00 - £20.00
1722	A set of retro tables £10.00 - £20.00	1766	A stone garden lion £10.00 - £20.00
1723	2 Victorian photograph albums etc £10.00 - £20.00	1767	A quantity of picture frames £10.00 - £20.00
1724	A teak cabinet £10.00 - £20.00	1768	2 carpet beaters etc. £10.00 - £20.00
1725	A TV and Video cabinet with video £10.00 - £20.00	1769	A child's guitar £10.00 - £20.00
1726	A Victorian inlaid overmantel mirror £10.00 - £20.00)1770	A sideboard £10.00 - £20.00
1727	A pine 3 drawer chest £10.00 - £20.00	1771	A garden seat cast iron ends A/F & 1 other £10.00
1728	A sewing machine in case £10.00 - £20.00	4770	- £20.00
1729	2 good old mirors £10.00 - £20.00	1772	An invalid walking aid £10.00 - £20.00
1730	An oak Edwardian bureau £10.00 - £20.00	1773	A wall clock £10.00 - £20.00
1731	A period bureau a/f £10.00 - £20.00	1774	A painting on canvas of a stag £10.00 - £20.00
1732	A golf trolley and clubs £10.00 - £20.00		
1733	A large combination wardrobe £10.00 - £20.00		
1734	A good collection of old books £10.00 - £20.00		
1735	A nice pink deep buttoned chair £10.00 - £20.00		
1736	A set of 4 kitchen chairs £10.00 - £20.00		
1737	A religious picture £10.00 - £20.00		
1738	A fold up card table £10.00 - £20.00		
1739	A nice hoop stretcher wicker chair £10.00 - £20.00		
1740	A card table £10.00 - £20.00		
1741	A set of 8 Mackintosh style dining chairs £10.00 -		
	£20.00		